HARDWARE REQUIRED
(Without Spares)

(13) 1/2” Anchor Shackles
(12) 5/8” Anchor Shackles
(1) 7/8" Anchor Shackle
(1) Edgetech Release Link
(3) 1/2" Sling Links

(16) 3/4” Sling Links

(4) 3/8" Screw Pins

(1) 17 Screw Pin

FOR ALL *
Label cable __m

from upper swage.
Clearly mark upper

swage as "TOP”.

*0.7

*8.7

*18.7

*9.9
*19.9

*9.9
*19.9

HARDWARE DESIGNATION

M| (2) 1/27 sH, (1) 3/4” SL

(1) 1/2" SH, (1) 3/4” SL,
(1) 5/8" SH

©\ (1) 1/2" sH, (1) 3/4” SL,
(1) 3/4” SH

| (1) 1/2” SH, (1) 3/4” SL,
(1) 7/8" SH

B[ (1) 5/8" SH, (1) 3/4” SL,
(1) 3/4” SH

® Release Link, Edgetech

(D[ (1) 3/8” Screw Pin

| (1) 5/8” SH, (1) 1/2” SL,
(1) 3/8” Screw Pin

(V|17 Screw Pin, (2) 1/2” SL,
(2) 3/8” Screw Pins

Offshore Mooring at 120 meters

A—=3 Polyform

(1) 6” Panther
Plastic Float at
2 m from end

Depth 10 m

m —=— 20 m —=
m —=— 30 m ——

40 m

70 m

100 m

104 m

R

Highflyer,
Radar Reflector,
Solar Light

\\ 10 m 3/8" Karat
30 m 3/8” Karat

41” Steel Sphere/ARGOS/Light
1 m 3/8” Marine Chain

T—Pod

T—Pod 27.5 m 5/16" Jac Nil Wirerope
T—Pod

Microcat on Strongback

T—Pod
T—Pod

28.6 m 5/16" Jac Nil Wirerope

Microcat on Strongback

T—Pod
28.6 m 5/16" Jac Nil Wirerope
T—Pod

Microcat on Strongback

3 m 3/8” Marine Chain

300 kHz Workhorse ADCP

2 m 3/8” Marine Chain

(8) 17" Glassballs on
3/8” Marine Chain

1 m 3/8” Marine Chain

Edgetech Acoustic Release
with T—Pod

2 m 3/8” Marine Chain

2000 Ib. Ww Mace Anchor

2 PN PN INIANANA SN

SIAEX 2001

view 11

BETSEY DOHERTY date: 02/07/01
d: /dwg/aope/kemp /asiaex2001.dwg




